N 2 0l & AF S E A A
S HSIEETYN
B3 F2AAY (II22AMA)(IIEHIIE
ehel: D= Ryl CEERE
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S 4,337 4,337 0
= 8,470,177 8,042,225 427,952
MY 2IZUI(DI=2ALA ) (DIEH DIE}) 75,307 83,024 AYAVAY.
=AY 75,307 83,024 AT,T1T
Jl=3d| 75,307 83,024 AT, 717
201 et 35,230 39,144 AN3,914
01 AtS 22/l 33,610 37,344 A3,734
OASR2telHl HaEZ2 -3,734,000& A3,734 0 A3,734
02 =234l 1,620 1,800 A 180
O=32gHl oaz2g= -180, 000& A 180 0 A 180
202 O4Hl 32,742 36,380 23,638
01 2014l 32,742 36,380 £3,638
O=UuHl oaESE -3,638,000& A 3,638 0 A 3,638
203 HRF&HI 7,335 7,500 A 165
01 J|22SHFF=&HI 3,135 3,300 A 165
O)BSHALETY GIMEZE -165,0008 A 165 0 A 165
TE2E Y 2T (LS IEE/UBHT) 1,317,323 1,348,949 A 31,626
S 4,337 4,337 0
N = 1,312,986 1,344,612 A31,626
Jlel o O 306,035 323,050 2,985
PHABNL U X 286,430 282,200 4,230
201 Let2d| 71,580 46,200 25,380
01 AtE22|Hl 71,580 46,200 25,380
Oget=g| 74,300 44,300 30,000
—=&8 23T 24 10,0002 +35*1,0005 30,000 0 30,000
OAtR2teldl olatE 22 -4,620,000& A4,620 0 A4,620
202 O4Hl 7,200 8,000 A 800
01 2014l 7,200 8,000 800
O=LoYl daEZ=2 -800,000& A 800 0 A800
203 ¥R =&l 4,750 5,000 A 250
03 AZFXHRFAH| 4,750 5,000 A 250
ONHEALSEXY GIAELE  -250,0008 A250 0 A250
207 AR 180,000 200,000 220,000
01 H2E S| 180,000 200,000 220,000
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180,000, 000& » 14 180,000 200,000 220,000
301 YAz 900 1,000 A100
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201 ZetEEHl 3,645 4,050 A405
01 AtR 22l 3,645 4,050 N405
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301 et asg 7,560 8,400 N840
12 JIEtEA S 7,560 8,400 A B840
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A2 S 282,850 299,255 216,405
WENEEL= 259,645 276,050 16,405
201 Let2d| 43,245 48,050 A4,805
01 AtE22(Hl 38,745 43,050 A4,305
OASR2telHl HaEZE2 -4,305,000& A4,305 0 A4,305
02 2323l 4,500 5,000 A500
OZT2gHl HaEYE ~500, 00024 A500 0 AB00
202 O4dl 179,000 190,000 A 11,000
01 S 99,000 110,000 A 11,000
O=UoHl taE2=2 -11,000,000& A 11,000 0 A 11,000
203 YR EZH| 5,700 6,000 A300
03 AZFXHARFAH| 5,700 6,000 A 300
OANM=XNHLSFLH OaEZ=  -300,000& A 300 0 A 300
301 et as 2,700 3,000 A 300
10 HAAHIZ &3 2,700 3,000 A 300
OBAMHIBAZ HUEDE ~300,0002 A300 0 A300
HHWE & HHMYR 153,438 158,374 N4,936
= 4,337 4,337 0
i 149,101 154,037 A4,936
HSHR =8 & ORI A2e 132,292 135,680 AN3,388
201 et 27,342 30,380 A3,038
01 AtS 22l 27,342 30,380 A3,038
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202 (4Hl 3,150 3,500 A 350
01 =AY 3,150 3,500 A 350
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201 YBr2 Y] 2,139 13,487 A1,348
01 AtSR22|Hl 12,139 13,487 N 1,348
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SAD|Y &g & FIHEX 18,278 19,850 A1,572
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201 B3| 5,823 6,470 AB4AT

01 AtR 22/t 5,823 6,470 N64T

OArRT2IH HarELE ~647,0002 ~647 0 ~647

202 O4Hl 7,200 8,000 A 800

01 =Yl 7,200 8,000 A800

O=U0oHl oaERAE -800,000& A 800 0 A800

203 ¥R =&l 2,375 2,500 A 125

03 AZFXHRFAH| 2,375 2,500 A125

ONMETALETY| GAEAE  -125,0008 A125 0 A125

cHE2H5 536,722 548,420 A 11,698

ojgAaal Y ZEHYUH 317,182 340,320 223,138

201 LetEHH| 290,732 311,320 220,588

01 AtR22/Hl 285,440 305,440 A20,000

OAtR 22/t HaEZE -20,000, 000& 220,000 0 220,000

02 25234l 5,292 5,880 A588

O=23=2ZHl oazZ=E -588,000& A 588 0 A 588

202 01t 10,800 12,000 A1,200

01 =LA bl 10,800 12,000 A 1,200

O=UoHl a2 -1,200,000& 21,200 0 A 1,200

203 HRF4Hl 6,650 7,000 A 350

03 AMF=XHS=LH| 6,650 7,000 A 350

ONBZTADRETY| GAE2E  -350,0008 A350 0 A350

301 et asg 9,000 10,000 A 1,000

12 JIEtEA S 9,000 10,000 A 1,000

OJIEtEd = BT E -1,000,000& A 1,000 0 A 1,000

OF X 2 28 28 167,040 185,600 18,560

201 L2y 167,040 185,600 18,560

01 AtE22|H] 167,040 185,600 A 18,560

OASR2t2Hl HaEZE2 -18,560,000& A 18,560 0 A 18,560

TV HAIE oA A 52,500 22,500 30,000
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)

SN

(]

SIEIN
Hu: PHSS @ IE(UNTIUT/AHEY)
ool 2YE2Ys (Erol: &2
SN -EHH . (B) - MPAY - BE2 O] &b o4 7|5 o HRE2
01 Al&H| 52,500 22,500 30,000
OTVEAIE o AFS 5,000, 000& *10.5km 52,500 22,500 30,000
ollgl gl (olliglgl/olgigl) 2,851,727 2,317,445 534,282
oyl bl 2,851,727 2,317,445 534,282
ol g1l 2,851,727 2,317,445 534,282
801 OlldIbl 2,851,727 2,317,445 534,282
01 olldldl 2,851,727 2,317,445 534,282
oollgldl 2,851,727,000& 2,851,727 2,317,445 534,282
Hess(OI2ZA) (LISSHE/HE - S ) 517,147 517,144 3
= 66,990 0 66,990
= 450,157 517,144 A66,987
28X = 517,147 517,144 3
= 66,990 0 66,990
= 450,157 517,144 266,987
NLDEA B2 X3 &2 401,144 401,144 0
= 66,990 0 66,990
= 334,154 401,144 A66,990
311 XH20IXHA & 401, 144 401, 144 0
2 66,990 0 66,990
i 334,154 401,144 266,990
04 SLEEXNY SO0 XA 401,144 401,144 0
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8,271,000,000& *4.85/100 401,144 401,144 0
= 66,990 0 66,990
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02 Al - EHIEZZEtE3 3 0 3
02010 B A2 Z A 3,000& 3 0 3




